
N

30 000

3 
12

0

1 060

2 
06

0

1 
06

0
1 

01
0

2 060

23
 8

00

30 000

1 
12

1
1 

46
0

1 
06

6 2 
03

5

17
0

1 
20

1

1 210

skveri karaleTis devnilTa dasaxleba
arsebuli



N

30 000

170 5 034 170

x=0426030
y=4651146

x=0425866
y=4651580 x=0425898

y=4651583

x=0425898
y=4651583

skveri

cxinvalis
gzatkeecili

skveri karaleTis devnilTa dasaxleba
situaciuri gegma



N

1 
06

6

11
 8

82

30 000

3 
12

02 
06

0

1 060

1 
06

0
1 

01
0

2 060

2 
03

5

23
 8

00

30 000

14
 4

62

17
0

1 
20

1

1 210

skveri karaleTis devnilTa
dasaxleba saproeqto

1

4

2

3



20
10

0
15

15
10

0
20

2000 2000

100

830830

100 60

100 100

830

1 
00

0

70

30

300
40

0
300

40
0

80

80

30
0

40 4040

66
0

dgari
kvadratulmili 40*

60

mili 20*40

mili20*40*2
liTonis furceli 2mm

RorRi 100mm

milkvadrati 15*15*2

zolovana 20*3

skveris SemoRobvis fragmenti

cokoli 200*150 m-
150arsebuli

fundamenti cokolis 200*
300 arsebuli



40

300

10
0

40
0

15
0

10
00

15
50

200

40*60

cokoli m-150

RorRi 10sm










